
TA K E  C O N T R O L O F YO U R  F O O D.

1 5  M I N U T E  S E T U P.  Y E A R S  O F F R E S H  P R O D U C E .

Proudly Made in the USA

Made of All Natural Western Red Cedar
(for long life with no chemical preservatives)

Extra Thick 5/4 Construction 
(full 1” thick)

Easy Assembly
Pre-built Parts (smoothed and ready!)

Drain holes
(for healthy plant drainage)



Package contains:

3-1/8” #9 Screws x 4

1-3/4” #8 Screws x 20

Pre-built Planter Ends with Legs x 2

5/4”x6’  Pre-drilled Side Planks x 4

Pre-built Bottom x 1

Recommended Tools:
    • Power Drill or Driver       • t20 Torx Bit
    • Rubber Mallet (if needed)  • t25 Torx Bit

Congratulations 
on your new planter! 

LET’S GROW!



1.  Lay pre-built legs
    on their sides.

2.  Position pre-drilled 5/4x6
side plank between 
planter legs. Align the 
board with the top edges 
of both ends and make 
sure the sides are tight 
against them before 
screwing together.

3.  Fasten 2 x 1-3/4” 
screws on each side 
using the pre-drilled 
holes.

4.  Repeat with bottom 
5/4x6 side plank to 
complete your first 
side.



7.   Be sure to line up with the bottom of the 5/4x6 side planks.

9.  Fasten middle with 4 x smaller 
1-3/4” screws

6.  Slide pre-built bottom 
into planter. It will be a 
tight fit, use a rubber 
mallet or your hands 
to gently bang it into 
place.

5.  Flip planter and repeat steps 2 - 4 to complete the second side.

8.  Fasten corners with 4 x larger 
3-1/8” screws.


